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Use the following scoring chart to find the VARK category that each of your answers corresponds to. Circle
the letters that correspond to your answers

e.g. If you answered b and c for question 3, circle V and R in the question 3 row.

Question | acategory [ b category c category d category
3 K ’V ’R\ A
)
Question | a category b category ¢ category d category
1 K A R V
2 Y A R K
3 K \Y, R A
4 K A Vv R
5 A \Y, K R
6 K R \Y, A
7 K A \Y, R
8 R K A Vv
9 R A K Vv
10 K \Y, R A
11 \Y R A K
12 A R Y, K
13 K A R Y,
14 K R A V
15 K A R Vv
16 Y A R K

Count the number of each of the VARK letters you have circled to get your score for each VARK category.

Total number of Vs circled =

Total number of As circled =

Total number of Rs circled =

Total number of Ks circled =
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